Concentration 3 – Podst. jména (jedn. a množ. číslo):

Tabulka pro učitele:

	1 foot
	2 teeth
	3 man
	4 child

	5 dogs
	6 box
	7 book
	8 dog

	9 women
	10 books
	11 woman
	12 boxes

	13 children
	14 feet
	15 tooth
	16 men
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	3 man
	4 child
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	14 feet
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Tabulka na tabuli:
	1
	2
	3
	4

	5
	6
	7
	8

	9
	10
	11
	12

	13
	14
	15
	16


Věty pro doplňování získaných slov z tabulek:
1. We have got two ________ – Eve and Tom.

2. He has got only four _______, he is 80 years old.

3. I read all my ______.

4. This _____ is very beautiful.

5. That _____ isn’t my dad.

6. Our ____ is very old.

7. These ____ are policemen.

8. Our baby has got only one _____.

9. They have got only one ______, her name is Jane.

10.  This _____ is very interesting.

11. I have my toys in the _______.

12. The ______ has got two _____.

13. She has got a red shoe on her left _____.

14. These ______ are shop assistants.

15. He has got seven ______ in his room.

16. They have got two _____ – Betty and Tarja.

ŘEŠENÍ:

1. We have got two children – Eve and Tom.

2. He has got only four teeth, he is 80 years old.

3. I read all my books.

4. This woman is very beautiful.

5. That man isn’t my dad.

6. Our dog is very old.

7. These men are policemen.

8. Our baby has got only one tooth.

9. They have got only one child, her name is Jane.

10.  This book is very interesting.

11. I have my toys in the box.

12. The man has got two feet.

13. She has got a red shoe on her left foot.

14. These women are shop assistants.

15. He has got seven boxes in his room.

16. They have got two dogs – Betty and Tarja.
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